Corrections for “Interacting Particle Systems” by Thomas M. Liggett
Page 33, line 9 from the bottom. Change braces to parentheses: cr(n, d().
Page 82, line 6 from the bottom. Change the n on the main line to an #:

G(1) = E"g(10,Msy» s Nsp_r)-

Page 111, display (8.11). The symbol under the summation should be z instead of y:

py) = v(z)alz —y).

x

Page 131, line 18. There is a missing parenthesis in the middle display:
Slglp |E(‘T7 5) - E(LL', gu)l > sup |C(.’IJ7 77) - C(!CC, 77u)|
¢ n

Page 171, second line following the display in Example 5.33: that should be than:
dimensional contact process. For A larger than its critical value, the one—
Page 185, line 3. Change the last ¢ to ~:

vryc(- | n=vonTo\T1) = vr, 4 (:)

Page 204, line 5. The display should read:
2v{n:n(xr) =1} —1 = [1 — (sinh 28)~4"/®
Page 210, line 4. Change to: for all f € D(X).

Page 220, line 3 from the bottom. The subscript on « should be T,:

. 1
nhﬁngo i ; ar, (x) = 0.

Page 229, line 7. Change Chapter I to Chapter II.
Page 231, display (1.14). The final A should have bars around it:
g(A) = PA(|A;| < |A] for some t > 0).
Page 232, line 6. ... greater than or equal ...
Page 241, line 11. The final symbol should be () rather than O:
(¢) Ay =B;UC; for t < 7, where 7 is the first time that B, N Cy # 0.
Page 275, line 10. ... At this point, we know that...

Page 280, line 1 from the bottom. Add a comma:

XN = max(Xpn, —N(n —m)).
1



Page 312, line 7 from the bottom. ... Of course a major difficulty in proving the ...
Page 370, (b) of Lemma 1.18. There is a missing ™

(b)  limy—so Ua(t)g2(Z) = 0 for all # € S?, and

Page 395, lines 4, 7 and 8. Change A € S\{0} to A C S\{0}.

Page 411. The top display should read:
0 <pe{n:n(z) =1,n(y) =1} — p{n:n(z) = 1,n(y) = 1}
<[p2{n:n(x) =1} — pa{n : n(z) = 1}]
+ [p2An :n(y) =1} — pa{n : n(y) = 1}].



